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Slﬂtistics (Ohjective vpe

Time: 20 Minutes Marks: 17
NOTE: write answaers lo the queshons oo abjective answer sheel provided Four poss ble answers A8 O & D 1o each

1. petion are gven. Which answer you consider correct, fill the corespanding arrcie AB 5 or § given in front of cach question
wth Marser or penink an the answer sheet provided

1.0 Fapecies value of 3 random vanable s eoua o

(A} Standard (B) Mean Deviation (C) Vanance (D) Maan
Deviation
T obor o mndom varable X if var Xiz4 ther var(2X+4] wili be
1Ay 12 B} 15 (£} 20 Dy 32
2 Far g oramal distnbuton with parameters o and P mean and vanance/are re'aled as
(A} Mear=variance (B) Mean>Varance (C) Mean-Vananfc (01 Always comgoe
4 in hypergeometns distribution with 1 5, Ko 10 ang N=20 the mean s,
(A 25 {8} 10 Gy 40° D) 34
5 A characterstc thal does rot vary from individual to indvicuat i/ called
(A Varizble (8) Constan: (C) Conugfuous varable {D) Chsciebe iapom vanahls

3 Acckarhin which adacent reclangles are used'

togeam anrml Bar Charl

{A) Sunp'e Har Chart  (B) Pie Chart {C] Hs
. in 3 cenain data range=1000 and number of classes are J0 then class intarval Wl by
(A) a4l (@) 50 €y 1 100
g M1 = 1) and y=6+2x then V' wiil be
(A) 20 (B} 24 (@ >y 30
¢ wWhich cf the fallowing 15 based on ali values of a data
(A O (B) Medan (D) Geomelne Mean
10 The geameltric mean of 0,2.4 and § s ®
(A 2 iB8) 0 (D) &
11 Wrach of the folowing 1s 8 measure of disper
{&) First quartle By 2nd rhi [C) Ceefficien] of Skewness (@) Range

7 The stardard devialion 15

(A) The square of variance (B} Half of the vanance

(21 Square ront of he v I (D) Two umes of the vanaice
13 1ra tirst mement ano : quat o !

(A) 1 ; {C} Vanance (D) Standard Deviation
LI WX

Y g

s index (Ei[’l./aspewe's ngde {C) Fishers ndex (D} Value mdex
wer's ncex rumber s ol Laspeyre’'s and Paasche's index numbers:
Anthmatc mean  (B).Geomelnc mean [C) Harmonic mean {0) Medan

16 The probability of obtaining an even rumber when a far die s rolipd
| | A
(A) 4 {8} 3 <y = (o) 1
17 1 A ang B are two non-mutually exclusive events then PIAJR) be.
(A) BLA-P(B) (B) PLAIP(B: (C) PARPBY- A 1D (D) PLABIRRI
B45-011-A-Tr vy
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Statistics (issay tvpe)
Time: 2:40 Hours SECTION-I
2- Write short answers of any eight parts from the foliowing.
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Note: Attempt any three questions from
5. (a) For the following frequency distribution ¢

{b) First four moments of a distribution ab

7. (a) The following data gives prices and Qu

(b} A bus traveling 200 miles has 10 stages al eq

Define statistics and dala i, Whal is pcpulation and sample”?

Write two merils of arithmetic mean. iv. Defire Median and give its formula
Write two meris of median vi What s Fishers Index number?

Wha! are Deciles? wiii, Whatis compasite index number?
Define Value Index. ¥ What 15 conzumer price index number?
Oefine Mean What is formula for calculalion of mean for group data®

What are the types of weighled aggregative index number?

Write short answers of any eight parts from the following.

i, What do you mean by TABULATION?

If second moment abaut mean s 5whal is fourth moment for a mesokurhic gislribution?

Define the term DISPERSION iv, Define Mulually Exclu Events,
Define HISTOGRAM,

Define moments.

Define Conditioral Probability.

B P

viiz, Define Mean Dewalion

Define Random Variable.

Describe two properties of disgrete probability distribulion
What is mean and vanancc olionomial drslrubulx:n with naramafcrs nand p?

v, If E{x)#0 B3, var{x)=0.2331 then find Efxé
praobability density lunction(p.d.

pergeomelrc distribulicr N=7
-1
D 212

vi I War(x)=46, then fild the variance of 5x- 100

Qup- 1 1

Muarks: 68
2x 8 =16

2xB=16

x Whal is the rm abdily of a Red card in & pack af 52 cards?

. 1 State Mulls plmhm-o Law of probability for dependent evenls.
4- Write short answers of any six parts from the !u!lowmg

2x6=12

Find Pix=0}

Hald= "4

f 2 ‘q,{’ 3

observed to be 10,15,20,75.20,30,40,50.30 a
has lraveled.

X 0

f 17 g

vaniation.

Paasche's index.

and 16 Calculate mear and Co-efficient of

es of four commaodifies for the years 2000 and 2002 Find

rices i’\t_:anlmas
magdit 000 2002 2000 \| 2002
70 75 300 310
A 80 20 |\ 215 |
[] @2 32 132 | \18
o/ 60 85 220 | 0

4

{b) 1 ih bability of a horg';a A winning a race 15 1/5 and that of a horse El is 1-‘!} Whal is the probability thal 4

ane of them wins? |

8. {a) The probability distributjon of a random variable x 15 given as. 4
[ x 0 1 g | 8
[P(x) 01 02 03 | 04
Show that Ef5x+8)=5H(x)+8
(b) For a continuous randnm variable X Probability density function is 4
3
flxy=cx  0<x%2. Find (i) vave ofc (i) “ - X5
9. {a) A fair coin is tossed four times. Find the prebabilily that there wil' appear 4
{it Alleast 2 heads. i} Atmost 2 heacs.
(b) 1n hypergeometric disinbulion determinge the following 4

{iiy n=7. N=12 %=B Find P¥x=6)

ﬁ 846-011-A

{i) n=4, N=10, K=3 Find P(x=2]



